e WA (x+4)? =5x+ TS ax +bx+¢c =09 &2 et
a-b+c 9 g2? (& a>0)

© 7 @ 8 ® 9 @ 10 ® 1



2.

x7b =2, -1,0, 1, 2 |, o[2Pg7

D x=-2 @ x=-1
@ x=1 ® x=2

Al
A

X2 -4x+3=09 =2

@ x=0



x7F—4,-3,-2,-1,0,1,2,3,4, 54 o, o]ZAFYZA] »* -x-12=0

of shg o2

O -3, 4 @ -4, 4
@ -4, 5 ® -2, 3



@ -8 ®1 @ 8 ® 15

® -15



5. xof TIFolAPYAHA x2 —ax+2a-3 =02 3 ZFolad W, a

®1 @ ® 6



O 5 2% —4x— 12

6.

@ x+2=0FE=x-6=0

D x-2=0EEx+6=0

@ x+3=0F=x-4=0

@ x-2=0EFE=x-6=0

® x+3=0EEx+4=0



1
H

@ x=-4

A
H



8.

0 < x <3¢l xof tfsto], o]x}+A

D x=-3 @ x=-2
@ x=3 ® x=14



O|APFA A X2 —4x +a
S = il
@ 3 B3 4

@-%013051@1’(194%}:],}.



Al
2

¥ -4x-12=09

=z O
45 =

a+2=09 3L a9 F2?

@ 2 ®1

7} ol AP A 2 4 2ax +



o]2 77
, =5
o1l x2 9] Al
7}1010
- ]

ol

@ -10 ®
3

D 10



0] 35!

PHAA 2 +9x4+a=0, x>+ bx+ 10

O]

=
T

12.

SHES

—

o)

® 3

1



@ x2-4=0

© x> =8x-16

® (Bx+1)2=1

® x2=0

@ (4x-1)(x+2)=3x-3

® 9,606

® 0,6

© 006,06
ONGNC)

® 0,6,



7t

oju

oZPLF Al X2 - 10x = a 7} T

14.

® -10

@ 25 @ -100 @ 100

® -25



15. oA ¥ -bx+a=0FZSh L T W, a+b 9 F=

@ 11 @ 12 ® 13 @ 14 ® 15



Tol

@ -2v3

® 4

O -10

@ 2



17. oA AHA (x-1)(x-5) =4 5

A,B 9] 3127

® A=3,B=38
® A=2 B=4

® A=4,B=6

(x +A)%2 = B 9] ZZ e}

@ A=-3,B=38

@ A=-3, B=-8

e

m,



18.

O XA A] 242 — 6x = —1 + x% 2 (x + p)? =
p—|—q94%/t%?

@ 5 @ -5 ® -8 RS









@ x=-2+1V2 ® x=-2+16

D x=2++6



A 3x% - 6x—-2=0 9] Fo| T= AL=H?

0

%

o

]_

o]

22.

2

3+ V15
3
V3




Sl

3x2-3x-2=09 L2+

g 4]

17}

23.

g

[ap)

-3+ 33

g

™




0.3x% + 0.2x = 0.5

® 5



25.

() +y=6)=16=0 L o, x+y o 5]



26.

o]i}%}@/ﬂ, ax? +bx+c= O(a +* 0) oﬂ EH?J— /gcg %1__%

@D b2 —ac>0°)H A2 o2 2 o] AL 7FACLY
@ b* —ac=0 ol o] girt.
@ b2 —4ac <0 oA 2 7o) k2 A28 F}A}

@ b =00l F2e 7MY}

® b% —4dac >0 oA A2 th2 2 /o] AL F}AL



® x2+2x=0
@ 2x2-8x+8=0

® 42 +15x+9=0



o

A

ol

orul
=8

tol the 4 5

S

28. tha olAPEAEA 2% —dx+k =0 O

olJ
RS
)
g
U

© k=0°]

ol

© k=-6°"1F 2

o] it

i
8

@ k<209]

©® 0,06 ® 0,0

® 6

ORGNC)

@® 09,0066



29.

Wi

o]
=3
=

by
9

.

e

D k>4

@ k<4

Al
=1

k2 +4x+1=00°] A2 =

@ k<4

® -4<k<4

T 9
T =



30. OoAPYAA ¥ +2x+ k=0 ] o] gl ), k o gre] HAE?

D k<1 @ k=1 ® k>1
@ k<1 ® k>-1



o]
Mo

ojn

31.

@ x2-2x-2=0

DO x*-4=0

@ x2+2x-4=0

@ 2+2x-2=0

® x*-4x4+2=0






g, e T =

+Za, gt

IS

=09

A 22— a4 1

5o

].H

o]

33.

® a2 +p2=18

@ ap=1

© a+p=4

=14

SHRSN

Ql 3

— | Q,

— 3



@ —4 ® 2 @ 4 ® 12

® -12



35. OoIAPEEA 6x* +ax+b=02 F 2ol 1, -2 L4 W, a-b 9| F2?

@®© -18 @ -6 ® 6 @ 18 ® 24



36.

oA A4 k2 +ax+4=029] 2o 3- 5L o, T}
2t otz oluf, a + b 9] FH2?

® 3-+5 @ -3-+5 ® 3+ V5
@ -3+ V5 ® -3-5

ot
rd
filo



A4 x-mt3=09 T2 A3 A ) m 9 gL

@ 3 ®1 @ -1 ® -5



3mx—-m+1=02F 2 8I7F1: 2 A wf, A m



o1}

39.

@ 2 ® 3 @ 4 ® 5

D1



a, Bl & o, op O 27

2 1
@‘g ©_§

@ 0

OJFFH A 2 4 bhxta+1=029 Zo] 4, -1 L, ax?—bx—2=0

Wl



